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SECOND REVISION EXAMINATION - FEBRUARY-2020

‘ X STANDARD Reg.Na : '

Time: 3.00 Hours ‘Mathematics .m : ar a:‘I'L'Ul '

instructions: {1} Check the question paper for falmoss of

printing. If there Is
of falmeus, Inform the Hall Superviscr Immnﬂ.ﬂ:rr s e

(2) Use Blue or Black Ink to writs and pencll or draw diagrams.
; _ Part - A
Note: (1) Answer all the 14 questions, JERA 14xq=id
[if) Choose the most suitable answerfrom the given four alternatives and write

the option code with the corresponding’ answer. '

1) Let f(x) = A 1+x? then _

=
L] "

) fooy) =10)fly) - b fixy) = 1(x)Ay)

c) f{xy) <f(x).f(y) - - d) None of these %
,+2) .If the ordered pairs {(a+2, 4) and- (5, 2a+b) are equal then (a,b) is

892 -2) - o B -

c) (2, 3) - X : ©d) {3, -2)

~ 3) Using Euclid's division IEmmla'. if the cube of any positive integer is .
divisible by 9 then the possible remainders are . i

-a)0 1,8 "Bl b). 1, 4, . -
€013 .~ W (/81,85 - - i
4) The next term of the sequence 3/16, 118, 1112, 118, ......is -
@) 124 AR, L B b) 1127, :
23 2 ©d) 181
S) Jy=3 +Ty—-Y g - ' - _ . _
¥, - 3y? T b X
a) 8y 4 b) 8y
oY : 21y=y) i
c) 2yr —42y +21 . d) Ty =2y +1)
| N SRR
6) Which-of the following can be calculated from the given matrices !
facn 12, 123 oy
A= (34) E=(’4ﬁﬁ)
S 56 789 °'. .
a) A? -+ b) B? c)AB - d)BA
) a, b only i) b, c only i) b, d only iv) All

7) How many tangents.can be drawn to the circle from an exterior

point? _
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L An:mr 10 quuﬂurm' J

“1 1) The height of a. nght Circular Cone whose radis hﬁcrn and {slapt

EB L e T Tt R
S ) ohe (AR B ) e 2

. .*. b) The slope Is § andy intercept-is 1.6

" 16) If BxA = ((~2,3), (-2,4); (0, 3), (0, 4} (3,3), (3,4). Fer:I BB
. . ] ] A . =1
17) Use Euclid's Division Algonthm tu find the.HCF of HETund .' D

WWW.Fatasalar.Net . . ‘ =
i

. ¢)infinte - o "7 d)Zero.
'8) The siraight fine given by the Equatlnn x=1is =~ S
a) Parallel to X axis .. b) Faraltel to Y axix .. _.,,1.:
) Passing ‘ihrough’ the Origin " d) Passing mmughthepolnﬁﬂ-“”
“g)A slmlght fine has equahnn By =4x+21 -which of the fumng iﬂ
' true. SRR -
a]ThasbpelsDﬁﬂndylntErcaptiszﬂ o

1

c) The slope is 0.5:and y intercept is.1.6

d]ThaslapamEandyintemeptEsEE .
10). If sin® = cos® then 2tan?g, + sin?01 is aqu:al o -

E]—ﬂﬂ ",'I h}m [

-

R N | )< B

_ height s’ 13cm will ‘be

E) 12 an ) = ! I.'.-'F..I . -.', : h} 1{] :rn . I... | :"'-1-'.,_:.‘- :I' i r I.I.

::} Wem . << Ll @) Seme

has th-a sama dia meter and‘ same height is -

W23 L RN by 20i8), - _-__-.;_;-‘,.';.‘ .. ,
o 1:3:2. SO D dy 3120 e U

:13) Variance of ﬁrst ED natural numb-ers is -
a) 3?_25 IS -__._:- ¢ o ihel B 4425
c).33.25 w0 T L d) 30, e

14) The probability of gﬂtting a job for a person-is }/3, if thﬂ pl'nha
ufnutgeﬂnmmmblaﬂa thenﬂ'uevahiaufxls

.5}2 b}‘l e 93 - d 15
S * Part- -1 IRy

Question No. 28 Is :nmpulunry '_

15) A= {-2,-1,0,1;2} and, fA—rE Ea an nniufuni:linn :Ie.rﬁ 'I“I
f(x) = x*x+1 then find B. = P

'15}Findﬂ1u=um 3+1+1/3+

WWV}/.Trb "[nﬁsc..c')bm =2 )
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19) Simplify: x* + y.
A=Y Yy—X s _ .
20) Find the value of x,y,z if - e ;
- (x y-z z+3)+(y 4 3)=(4 8 16) :
21) A man goes 18 m due east and then 24 m due north. Find the
 distance of his cument position from the utartlng point?
22) Find the slope of a line Joining the points (5, ¥5) with the_ origin,
23) Find the intercepts made hy the line 4x—8y +36=0 on lha

coordinate axes.
24) Prove the following identinr
~ secB - cos0, = tanBsin @ i
25) K the base ‘area of hemispherical solid is
, 1333m‘ then find its TSA.
26) The siandard deviation and Co-efficient of vanatmn nf a data are 1.2
and' 256 respectively. Find the value'of mean. ’
-27) A die Is rolled and coin is lossed simullaneuusl-,r Find the pmbahﬂrty
" that ‘the die shows. an odd number and the:coin shows a-head.
28) A solid . sphere and a solid. hemisphere have equal total Eurfa::ﬂ
area. Frmre ratio of their 'mluma is 3*.'3 4 :
. L . Part-ll - |
ll. Answar 1u quauunns' nuuhnn No. 42 is cnmpuhnry,‘_ | 1'u::'s=su

29} LetA {waJ‘xﬂE} B= {xeﬁf'i-:rsd}and G {3 5}
Verify .that (AUB) % C = (AxC)u (BxC) ‘o

30) The fum:hun t" which maps temperature in Celsius (C) Intn tamperatura
in: Fahrenheﬂ (F) Is defined by I{C} = F Where F = 9/5C + 32.

Find {'} t(0) _ =
(y°uze) . i e
(i) t(-10)" S C
*(iv) the value of C when t{C).= 212 - L

{v}'the temperature when the

b detiags Eelsrus value is equal 'tu. the

31) The ratio of 6th and 8th term of an AP Is 7:9.
Flnd the ratio of 8th term to 13th term.

32) 'Find the sum of 1 +162+ 177+ ... +28°

- 33) Find the sqyare root of (4x2— _x+ 2} (?x*-dax-z] (28x?—3x~1)
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‘. [1 2 1]5:1-::1 B.= 51-4'] N . T L
34] IfA=|2-1 1 o 215

Show Ihat {AE]T = BTA".
351 State and prove Angle Bisector Theﬂramd . 2] 2 e _
36). Show that the Points (-2, 5)(6, -1) an 4 o of :
- 3?] Find the equation of a straight ||na lhrni.lgh the inte ﬂcﬂnn $
. 3x+y+2=0and x— 2y-4=0 to the paini of Inters
* 7x-3y=—12 and 2y=x+3. .
38) j‘ll":lﬂ{"uae t:p 1:11’1£|2 15m !:gh tower-makes ‘an angle uf Elevaﬂ;:n of 60°
. with the bottom of an electric pole and angle of -elevation of aﬂ:
" with the top of the pole: What is the -height of ‘the  electric pn[er
'39) A solid sphere of radius 6cm is' melted -Into a- hu!law c:ylmdar of .

uniform thickness. If the extemal racl ~ 2 QLAY S

. -

L]

“lus of the base of the cylinder . . : -' i 5 ru:m- ‘and its |
height is 32 cm. Then find thickness of the G}fhl'IdEI' Al *
40) :Find the Co-efficient df variation of 24 26, 33, 37,29, 31
.~ 41) Three unbiased coins are tossed ‘once. Find the prﬂhahllit'f of
. getting ahnnat 2 tails or atleast 2 heads ) t,; .1-
) simplit. 1 4 oo A
N .::‘,-5:_:+E _:i-r‘*_'—::'!fx+2'l. X —Bx +1507 5 8 =
S oA L Plrt-.W' _’ “1 _':l_;_-.‘*-* _
V. Answar both questions: - . ik ey 2wB=16
+-43) a) Draw a circle of radius 4 cm. At a Flﬂil"lt L unult draw - a tangent
1o the ::rda using the alternative segment.: ¥, ‘-[’.
. [.nr] , ; ;.'4- g by !

b) Construct a A PQR such that QR=8. Ecm::P B{F anl:l allitude
from P to QR-is of length 4.5cm. A
44) @) Draw the graph of ¥*—8x+16=0 and discuss *tha nature of
s.ﬂlutiun of the quadratic equatinn r _Lebak :
(or) - ' o
hl Draw “‘rﬂ graph of y=x*+x and hence snlve x*+1 =0.

llinl.iqu - q'. 1N

LR

-
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